ATLANTIS
Population:  20,000

Labor Force:  13,000

Unemployed:  1,400

CPI Last year:  100

CPI This Year:  101
Real GDP Last Year:  $400,000

Real GDP This Year:  $401,000

Atlantis is a small, farming community.  Recently they have had two straight seasons of poor crop production.  Aggregate demand is low and saving is down.  

XANADU

Population:  1,000,000

Labor Force:  650,000

Unemployed:  20,000
CPI Last year:  100

CPI This Year:  120

Real GDP last year:  $50,000,000

Real GDP this year:  $69,000,000


Xanadu is a large city that survives off of a growing communications industry.  Over half of the people in the city work in communications in some way.  This rapid growth has caused many problems including hyperinflation and some shortages of housing, cars, and other goods.

McIntosh Meadows
Population:  200

Labor Force:  110

Unemployed:  22
CPI Last year:  90
CPI This Year:  80
Real GDP last year:  $500

Real GDP this year:  $350


McIntosh Meadows is a very small community that used to survive off of building and maintaining parks and recreational activities.  Now that a new national park has been built in a nearby town, their services are not needed as much.

CANNONLAND

Population:  500,000

Labor Force:  400,000

Unemployed:  200,000

CPI Last year:  120
CPI This Year:  240
Real GDP last year:  $60,000,000

Real GDP this year:  $2,000,000


Cannonland, typically a successful community, has recently experienced a major hurricane that wiped out many natural resources. In the last year there has been hyperinflation and many layoffs.  Businesses say more are coming.

ECONOLAND

Population:  16,000,000

Labor Force:  14,500,000

Unemployed:  5,800
CPI Last year:  100

CPI This Year:  106

Real GDP last year:  $20,000,000

Real GDP this year:  $25,000,000


Econoland produces the best economists in the world.  They work hard to insure that almost all people have a job.  The poverty rate is extremely low because they have enacted policies to diminish the income gap.

NEVERLAND
Population:  60,000

Labor Force:  39,000

Unemployed:  7,000

CPI Last year:  105
CPI This Year:  85

Real GDP last year:  $3,000,000

Real GDP this year:  $16,000,000


Neverland has recently experienced a huge boom in technology and a discovery of many new natural resources, including a supply of oil.  
DIRECTIONS:  Read each economy’s description carefully.  After you do, answer the following FOR EACH ECONOMY!!!!

PHASE I

1.  What is the unemployment rate?  Is this good or bad?
2.  What is the inflation rate?  Is this good or bad?
3.  Has this country had significant economic growth?  How do you know?

4.  What type (or types) of unemployment does this economy MOST LIKELY have?  Explain your answer.
5.  What part of the business cycle does this economy appear to be in?  Explain your answer.
PHASE II

6.  For each economy, identify a specific fiscal policy you feel would benefit this economy and explain why.

7.  For each economy, identify a specific monetary policy you feel would benefit this economy and explain why.
HELPFUL DATA (relative to the United States):

Desirable Unemployment Rate (Full Employment) is between 4 - 6%
Desirable Inflation Rate is between 2 – 4%
Desirable Growth Rate is between  3 – 5%
FORMULAS:

Unemployment Rate:  (#UNEMPLOYED / #LABOR FORCE) X 100

Inflation Rate:  ((CPI This year – CPI Last year) / CPI Last year) X 100

Growth Rate:  (RGDP this year – RGDP last year) / RGDP last year X 100
(Questions 1 and 2 each time are simple calculations so I skipped them.  Here are the guidelines for answers to 3 – 5)

Atlantis:

3.  No.  GDP growth rate is tiny, AD is low, poor crop production is bad for agricultural economies.

4.  DEFINITELY cyclical.  Possibly structural depending on what other jobs are available.

5.  Clearly a trough.  2 straight seasons and there’s no movement up or down in GDP.

Xanadu

3.  Yes.  GDP growth rate is huge.  Also, paragraph indicates rapid growth.

4.  Structural – people without communication skills.  Frictional – people just moving to town.

5.  Peaking – this is not sustainable and there’s too much inflation.

McIntosh Meadows
3.  No.  GDP is negative.

4.  Structural, lack of skills.  Cyclical, bad economy.

5.  Severe contraction, may be troughing.

Cannonland

3.  No.  GDP is negative.

4.  Cyclical, bad weather effects.  Possibly structural if those jobs aren’t coming back.

5.  DEFINITE contraction.  High inflation is result of stagflation.

Econoland

3.  Yes, high GDP.  Economy “sounds” good.

4.  Frictional.  Everything else is good, unemployment is very low

5.  Extended peak or growth period.

Neverland

3.  Yes.  Ridiculous GDP numbers and new tech = growth.

4.  Structural.  People don’t have the skills for this new industry yet.

5.  Beginnings of an recovery.  Unem. is high because of lack of skills
